JOTUNHERIA SOLUTION - ERRTHWORKS

Individual puzzle solutions are shown below, with invisible towers circled:
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Transfer digits from the grids to the the tableau and perform the series of additions given.The runes at the bottom of
the tableau should be read as "MOD(ulo) 26". Modulating each addition answer to a number between 1 and 26 gives
values that may be read alphanumerically from the top down as EARTHWORKS.

34 + 23 =57 mod 26 =5 E
51 + 54 =105 mod 26 = 1 A
64 + 32 =96 mod 26 =18 R
32 + 40 =72 mod 26 = 20 T
50 + 36 =86 mod 26 = 8 H
10 + 13 =23 mod 26 = 23 W
16 + 25 =41 mod 26 = 15 (@)
46 + 24 =70 mod 26 = 18 R
10 + 53 =63 mod 26 = 11 K
63 + 60 =123 mod 26 = 19 S



